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ÿoˆÁTˆEı YÁPˆy‘] ◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á 

(B.D.P. Term End Examination) 
◊Qˆ„a∂ëˆÃ[˝, 2017 C L«X, 2018 (December-2017 & June-2018) 

B◊¨K˜Eı YÁPˆy‘] ( Elective Course ) 

\…ˆ„GÁ_ ( Geography ) 
◊•Tˆ›Ã^ Yy (2nd Paper) 

Landform Processes : EGR-2 
a]Ã^  f V«c˜O H∞RÙOÁ (Time : 2 Hours) 

Y…SÔ]ÁX  f 50 (Full Marks : 50)  

]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% (Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

◊[˝\ˆÁG - Eı 

1* Â^ ÂEıÁX V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 10 × 2 = 20 

 (Eı) %Á[˝c˜◊[˝EıÁ„Ã[˝Ã[˝ ◊XÃ^‹óˆEı ◊[˝bÃ^m◊_ ◊[˝[˝ Tˆ EıÃ[˝”X* l«˘V– 
EıSÁ ◊[˝aÃ[˝S [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 

 (F) Qˆ[˝¿«.A].„Qˆ◊\ˆ„aÃ[˝ l˘Ã^ªJÙy‘ Tˆ„√º¯Ã[˝ a]Á„_ÁªJÙXÁ]…_Eı 
◊[˝‰`¿bS EıÃ[˝”X* 

 (G) ]Ã[˝” %á˚„_ [˝ÁÃ^«Ã[˝ aá˚Ã^ EıÁ„^ÔÃ[˝ Zı„_ Â^ aEı_ 
\…ˆ◊]Ã[˝÷„YÃ[˝ a ◊rÙ c˜Ã^ ◊ªJÙyac˜„^Á„G TˆÁ„VÃ[˝ a∂ëˆ„μ˘ 
%Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (H) ]ÁW˝ÓÁEıbÔS `◊N˛Ã[˝ Zı„_ a rÙ Y“ÿÉˆ[˝S EıÁ„Eı [˝„_ ? 
a]„Ã^Ã[˝ Y◊Ã[˝‰Y“◊l˘„Tˆ L„_Ã[˝ Y◊Ã[˝]ÁS %X«^ÁÃ^› 
Y“ÿÉˆ[˝„SÃ[˝ Ê`“S›◊[˝\ˆÁG EıÃ[˝”X* 

◊[˝\ˆÁG - F 

2* Â^ ÂEıÁX ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 3 = 18 

 (Eı) XV›Ã[˝ l˘Ã^ Y“◊y‘Ã^Ám◊_Ã[˝ ae◊l˘ä ◊[˝[˝Ã[˝S ◊VX* 

 (F) ÿôˆÃ[˝›\…ˆTˆ A[˝e %ÿôˆÃ[˝›\…ˆTˆ aá˚„Ã^Ã[˝ ]„W˝Ó YÁUÔEıÓ 
ÂVFÁX* 

 (G) ]Ã[˝” %á˚„_ ^Á◊‹óˆEı %Á[˝c˜◊[˝EıÁ„Ã[˝Ã[˝ Y◊Ã[˝ªJÙÃ^ ◊VX* 

 (H) ªªJ«ÙXÁYÁUÃ[˝^«N˛ %á˚„_ ◊Eı ◊Eı Y“EıÁÃ[˝ [˝ c˜VÁÃ^Tˆ„XÃ[˝ 
\…ˆ◊]Ã[˝÷Y ÂVFÁ ^ÁÃ^ ? 

 (I¯) \…ˆ-Y ‰rÙÃ[˝ ◊X‰ªJÙ ◊[˝◊\ˆ~ Y“EıÁÃ[˝ %ÓÁE«ıc˜OZıÁÃ[˝m◊_ ◊Eı ◊Eı ? 

◊[˝\ˆÁG - G 

3* Â^ ÂEıÁX ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 3 × 4 = 12 

 (Eı) a]Y“ÁÃ^ \…ˆ◊] [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 

 (F) ◊c˜][˝Á„c˜Ã[˝ Ê`“S›◊[˝\ˆÁG EıÃ[˝”X* 

 (G) Ê[˝¿Á-%Á=ªRÙO ◊Eı\ˆÁ„[˝ a rÙ c˜Ã^ ? 

 (H) EıÁ∫RÙO¤ \…ˆ◊]Ã[˝÷Y GPˆ„XÃ[˝ %X«E…ı_ `Tˆ¤m◊_ ◊Eı ◊Eı ? 

 (I¯) ◊`_ÁÃ[˝ Y“„[˝`ÓTˆÁ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 

 (ªJÙ) ]c˜›„aÁYÁ„XÃ[˝ aep˚Á ◊VX C È[˝◊`rÙÓ ◊_F«X* 

 (ªK˜) E«ı„Ã[˝Á◊`C ÊÿÉˆÁ„TˆÃ[˝ [˝SÔXÁ ◊VX* 

 (L) ]c˜›LÁGÃ[˝S ◊Eı ? 
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Group – A 

1. Answer any two questions : 10 × 2 = 20 

 a) Describe the controlling factors of 

weathering. What is granular 

disintegration ? 

 b) Make a critical assessment of the concept of 

cycle of erosion as described by W.M. Davis. 

 c) Describe diagrammatically the depositional 

features produced by Aeolian action in 

desert region.   

 d) What is gravitational spring ? Classify 

springs on the basis of availability of water 

over time. 

Group – B 

2. Answer any three questions : 6 × 3 = 18 

 a) Briefly describe the erosional processes of a 

river. 

 b) What is the difference between stratified 

and unstratified deposits ? 

 c) Describe the processes of mechanical 

weathering in the arid environment.  

 d) What are the different types of larger 

landscape found in the limestone region ? 

 e) What are the different forms of acquifers 

beneath the surface of the earth ? 

Group – C 

3. Answer any four of the following : 3 × 4 = 12 

 a) What is meant by the term ‘peneplain’ ? 

 b) Classify glaciers. 

 c) How is ‘Blow-out’ formed ? 

 d) What are the favourable conditions  of 

formation of karst landform. 

 e) What is permeability of rocks ? 

 f) Give the definition and write the 

characteristics of continental shelf. 

 g) Describe the Kuroshio current flow. 

 h) What is continental rise ? 

    


